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fAME
A

SRS oS e FHEX AE
9l ROIFSBR| AR (FLARSEIIH) (25 &2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

O AIE€&Hl 2 =Xl 3,600

O GFUUHOHIHE EAE49H| 1,500,000& * 22| 3,000

O =82 =2 300,000& = 2CH 600
301 EEN = 1,120 1,120 0
10 HAAHIE &3 1,120 1,120 0

[0 ZFAUOHIHE =0 WE =4 7,000& = 80F * 23 1,120
401 A EHIL 204 20,000 90,000 A70,000
01 Al&HI 20,000 90,000 270,000

O A8 sXZel(W, 28 =48 8) 20,000,000& * 14 20,000
802 E+e+=zJIEt 32,595 44,165 211,570
03 T3S 32,595 44,165 A11,570

O LU= AUl XA ES= Bt 15,505

O BEsz= gtats 1,314,000& * 2AICH 2,628

O 253 ttats 1,708,000& * 2MICH 3,416

O 253 ez 2,102,400 » 2AICH 4,205

O 2&5= gtez 2,628,000& = 2MICH 5,256

O SHAU=E(AI}) HLHXA 252 BHe 17,090

O Es= ttets 10,920,000& * 1AlICH 10,920

O B53= ttats 6,170,000& = 1AICH 6,170
=0E A=z NI 9,720 9,720 0
201 LBt 3| 5,000 5,000 0
02 23234l 5,000 5,000 0

[ =¢l=& Al &= 1,000,000& * 5AICH 5,000
202 O4Hl 4,720 4,720 0




SN

o A2 9 =HEX
=EE Sie| A (FHAISE ) Chol & 2
= A SO (3 H) - MIRAY - A= Aol e =2

01 2Wodb] 4,720 4,720 0

[0 =008 k=a 20,000 * 4% » 31 2,480

[0 =00z X= 80,000 * 4% x 73| 2,240
ZOIFEAIY OlHIH(=EHAIZE S Y 3 643,610 558,203 85,407
Ol Z=EHAFS 0flHlH| 643,610 558,203 85,407
801 Oilglyl 643,610 558,203 85,407
01 olglyl 643,610 558,203 85,407

O doluldl 643,610,000& = 1A 643,610
HE AL (S A=) 7,744 15,888 N8,144
ARSHH|(FEHALELESIAH) 7,744 15,888 A8, 144
A2 (FHAIHEE S 7,744 15,888 A8, 144
101 ol 24| 7,744 15,888 N8, 144
03 RIHAZ=Z X2 7,744 15,888 N8,144

O RIIHAZZ A & 43,0002 * 302 * 2,191/365 7,744




